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) 17
. . [=12.2124°
I, =52,60° I, =10 /150° .
6-1-5 ““*nh i=s5/60°
i 102150
0 -
Ui 6-1-5 6-4
6-5 1000 Hz  =0.5/ - 30°A
w=27f=2x3.14 x1000 rad/s=6280 rad/s
i =0.5.2sin 6280t - 30° A
6.2
6.2.1
6-2-1 a
u=iR
i =1,9nwt
u=iR=I_Rsinwt = U, sinot 6-2-1
u i
@ =0° 6-2-10b 6-2-1
U, =I_R U./l_=U/l =R 6-2-2
R
U/l =ue” /1" =R U=IR 6-2-3

6-2-1c
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u* R i\\%
p AR
© /\ : /\
(d)* i :
——i o NN
o = iy
{c) +
(a) BRI WEESHEHLIEEEBEE (orkegl (dIThEE
6-2-1
u i
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W=pPt P
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i =1,9nwt 6-2-6
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u i i u 90° u
i 6-2-2Db 6-2-7
U,=I, oL U,/l,=U/l =wL 6-2-8
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U ol |
X,
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X, L f
U/l'zlﬂé %0 -0 :Eéw:jXL:ij 6-2-10
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P
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i =dg/dt =Cdu/dt u=U_ snwt
i =U,wCsn wt+90° =I_sn wt+90° 6-2-13
u i 90°
¢ ¢ u |
6-2-3b 6-2-13
lm=U,0C 6-2-14
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-1 _1 -2
¢ wC™ 2nfC 6-2-15
Xe C f f=
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Q=Ul =1°X, 6-2-17
6-6 6-2-4 R=4kQ u, U
I, =10 20°mA R=4 kQ X, =wlL =314 x30 =
9. 42 kQ 6-2-3 6-2-10
U, =Rx I, =4x10° x10 x10 % 2 0° =40 £ 0°V
Uy, =X, x1,=9.42x10° x10x10 > =94.2 V
u, = U, sin314tV = 40sin314tV
u, =U,, sin 314t +90° V=94.2sin 314t +90° V
u, i u, i90°
4, R L
1
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wC oC
U=z1I 6-3-3
U=zi1 7
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1Z]| = /R + X - X 2=\/R2+ wl- L2 6-3-5
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1
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U=l J/R+ X -X;? 6-3-7
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U 1R 6-3-9
=7 WC
|Z] ¢ R X, Xc u Ur
U U
¢ ¢
6-3-8 @
X, > Xe I u
@ X <Xe I u ¢
X =Xc ¢ =0 I u
Z.=R
1 _ .1 -3-
ZC—MC— e 6-3-10
Z =joL
6.3.2
1.
6-3-6
u=zr1
z=Uu24Mr=u|4¢:%4w-¢i 6-3-11
1Z]
@ I
@ yo—= |
i N
QD=O §D>0 -
¢<0
6-3-6 ab
n
Z2=3272=2,+Z,+Z,+ +1Z 6-3-12
i=1
Zl ZZ
G =20 U =220
tZ,+ 2, 2

Z.+7, 6-3-13
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Y=Y =Y, +Y,+Y, +  +Y, 6-3-14
i=1
Y, Y,
= = 6-3-15
LTV +Y, 27V, +Y, o
6-7 6-3-7 i =5sn2tA R=1Q L=0.25H C=1F
R 2 T R
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@ u {t) == (@) @ O u.% i
6-3-7 6-7
u t u, t
[, =5/0°A
_1 1
Zc_ij_jXZX1_ 0.5 Q
Z, =joL =jx2x0.25=0.5} O
_ _  -0.5] 1+0.5) _ -
2=2,//2,= 0.5 % 1+0.5 =0.25- 0.5 Q
Un,=2Z- I,= 0.25-0.5] x5,0°=1.25-2.5/=2.795/ - 63.4° V
U, =U, x=2" = 1.25-2.5 x-95_—1 25-1.25,0°v
o Em 7+ Z, 1+0.5j
u, t =2.795sin 2t- 63.4° V
u, t =1.25sn2tV
6-8 6-3-9 ut =220,2sin314tV i, t =11,2sin 314t- 30° A
i, t =11.,/2sn 314t +90° A
1 2R L C
1
U=220,0°V 1,=11,/90°A
I'=I,+1,=11,90° +11/ - 30° =11, 30° A
220V 11A 11 A 11A
2 RLC
Zo= - ji:U/r2 =220,0°/11,90° =202 - 90°Q)

wC
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wC—ZOQ

C=1/ wx20 =1/314 x20~159 uF
Z, =R+jwL=U/I,=220,0°/ 11/ - 30° =20 cos30° +jsin30°
R =20 x cos30° =17.32
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P =Ulcosp 6-3-17
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3
Q=Ulsing 6-3-18
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6-3-18
var

P = Ulcosep

P
P = Ulcosp

S=UI=5U,l,

S =Uyly
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P =Ulcose
S= VP +Q
P = Scosp
Q=Sdny

Q:U|§n¢
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| =P/Ucosp
r AP =1%r

0.90
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"ol ol tang, - tang,

Q= Ulsin¢
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6-3-23

6-3-24
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6-3-25
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110 V
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P=40W U =110V =314 rad/s
|, =1, =P/U,=40/110=0.35 A
W =3 +U?

U =,/U - U% = /220° - 110° =190.5 V
X =U, /1, =190.5/0.36 =529 Q)
L=X_/w=529/314 =1.69 H

cosp = Uy, /U =110/220

1 @, tanp, =y3 tanp, =3/4
0.8
|
=< =P tang, - tang, =40/314x220° /3- 3/4 =2.58 yF
wU U
6.3.4
1.
6-3- 12 R-L-C
w
w=w,=1//LC 6-3-26
Wy L C
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fo, f
ft
ft=1fo0, -f e ' +f 6-4-1
RL C
6-1 6-1
1 i(rhimA
z AWA
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1
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u =10 ./2sin314tV
i = - 5sin 314t- 60° A
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6-3 U, 311V - 60°
t=0.0025 s Uy,

6- 4

1 i, t =2sn wt-27° A i, t =3sn wt+1/47 A

2 u, t =100sin 314t +3/4w V u, t =250sin314tV

6-5

1 1,=11272°A [,=5/ - 150°A [,=7.0720°A

2 U, =200,120°V U, =300,0°V U, =250/ - 60°V

6-6 1 2 3

1 I,=5,17°A [,=7, - 42°A
2 [,=4,125°A 1,=2.5/ - 55°A
3 i, t =1.4sn 314t- 1/2w A i, t =2.3sin 314t +1/67 A
6-7 6-2 u=100sin 314t +30° V i, =22sin 314t +20° A
i, =10sin 314t +83° A i Z, Z, Z, Z,

o

6-2 6-3
6-8 6-3 X, =X: =R A 3A A A
6-9 6-4 i t =1sn314tA up tu t
U t ut
6- 10 6-5 100 £ 0°V u I
6- 11
1 U= 445V I= 4+j3 mA

2 U=100,120°V | =5/60°A
3 U=100,120°V | =5/60°A
4 U=-100,30°V |=-5/-60°A



o) u, ()

o — ;100
— Ot Y VYN +
+ 100G + -
0107 < w6 ) 1 _
w4} _ U 1500 H —12000 —— 10007V
| -
= 10pF _|_;_;C(;) o B
6-5
6-4
6-12 6-6 7
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6-18 RLC U=10V I=1A U.,=80V R
X
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0.9
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6-22 6-12 u=10V o =3000 rad/s
C l, =100 mA Ug, =200 V RLC
I,
Q_...._:I_MM_
e, L g + R L
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6-12
1.
1
2
3
4
2.
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220V 40 W 1
40 W 1
40 W 1
1uF 2uF 4
T51 0 ~500mA ~ 1000mA 1
T51 0 ~ 600V 1
D51 600V 1A 1
4,
1 4-2
4-2
Ur U, I lc P P Pc
2
4-3 1-15 uF
7 1
4-3
UR ULr ILr IC P PLr PC
C
C=1pF
C=2 puF

C=4 uF
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7.1

7.1.1
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120°

7
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Uuv w
e, =E,Snwt

e, =E,sn ot- 120°
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2
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7.2.1
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1
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2
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ZU:ZVZZW
; V3
30°
4 7-2-1

[y=1y +1y +1y

|N:|U+|V+|W:O



(ud =4 DL T REAS (b) =14 LSRR
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3
U
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1Z] /32442 5
_ X _ 4 _ o
¢ =arctan = = arctan 3 =53.1
Uy
Uy
ly==/=44, - 53.1°A
I, =1,,120° =44/ - 173.1°A
lw=1,2120° =44 / 66.9°A
7-2-3b
7-2 7-2-1 U =380V U V W

“220V 40w 50 U \Y, w
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(b} tH & bl
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B 200 ~ ~
Ry =555 a0 xEp=242Q R= R,=48.40

U
Up=--=220V
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'“_RU —24.2~9.09A
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2 Y u w
_ Uuw 380
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U, =5.23 x24,2~127 V
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J
U v

(a) =44 0 A ATFR (b) =4 AR

=3 +j4Q) 380 V

u
Ul 380 o,

|

Pz V3% +4?
I, =/3l, =/3 x76~131.6A

_ X _ 4 _ o
@ = arctan R = arctan 3 =53.1

53.1° 30°

7.2.3

P =3U,l,cosp =/3U, |, cosp
Q=3U,l.sinp =/3U,1 sing
S=3U,l, =/3U,1,

P =3U,l cosp =/3U, I, cosp
Q=3U,l.sinp =/3U,1 sing
S=3U,l, =/3Ul,
7-4 Z=6+j8Q) 380 V
P QS

1Z| = VR + X2 = /6% +8° =100)
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I :|P:|L;F’|:212(?:22A

cosg =%=16—0=0.6

sing :%:f—o:o.s

P, =/3U, | cosp =,/3 X380 x22 x0.6~8.7 kW
Q, =/3U, I sing =/3 x380 x22 x0.8~11.6 kW
S, =/3U. 1, =/3 x380 x22 =14.5 kW

U, =U, =380V

U
== =380 g0

P71Z] T 10
I, =31, =/3x38=65.8A

P, =+/3U, 1 cosp =/3 x380 x65.8 x0.6~26 kW
Q, =+/3U, 1, sinp =3 x380 x65.8 x0.8~34.6 kW
S, =/3U, 1, =/3 x380 x65. 8 =43.3 kW

120°

30°
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iy =1,9nwt
iy =l,8n wt-120°
iw =l,8in wt+120°

(a) (1)

(a) af=0° {c) of=240° (d) wt=360"

1 ot =0° 8-1-5 i,=0 U iy
Vv, ® Vi O] w W, ® W,
O] 8-1-6 a “ i
8-1-6 a
2 ot =120° 8-1-5 iy iy =0 iy
120° 8-1-6Db
3 wt =240° iy iy iw=0 120°
8-1-6 c

4 wt =360° 0° 1 8-1-6d
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p
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n, r/min 3000 1500 1000 750 600 500
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kW U,=380V ny=955r/min n, =1450 r/min
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2
f,
80
3
nl
8.2
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g L

1b

C A
90°

8-1-10 b
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iy =lapSnowt iz =Ig,9Nn wt+90°

8§-2-2 a

b c
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B
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8.2.2
1.
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C
2.
1
2
8-2-4
3
n=60f 1-s /p
N p
f 50 Hz
n 3000 r/min
6
4

n

7
8-2-4
4 n 1500 r/min
1000 r/mm
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30 ~ 125 Hz
"8.3
8.3.1
1.
1
8-3-1
2

P,

50 Hz
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0.001 mm
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CC40192{1) , CO Ip  CC40192(2)

L
AP B DD AP DL DD
CPU “1» CPL
9-6 12
@ 6 @ Q~Q
2 CC40192  74LS192
CR LD D, D, D, D,
e QQ Q A B C
D CO BO 9-1
@
CR=1 Q,Q,Q,Q, =0000 0
CR=0
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CR=0 CP, CP,

LD=1
@ -
CR=0 LD=CP,=1 CP,
8421
@ -
CR=0 LD=CP,=1 CP,
3 9-3 CC40192
00 ~ 99
4
5 9-4
6 9-5 9-6
7 60
6

A W N

10

1Hz

99 ~00
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9
9.1 555
9.1.1 555
555
CMOS NE555
C7555 555 CMOS
7555
1. 555
5G555 9-1-1
[ [
~ ~
! = L = |
{a) /TR (b)) i A (C)IRTEA L 3
9-1-1 5G555
2. 555
2 1
S A1 Az ?UDD ?UDD
2 1
1 UTH >§UDD Uﬁ > ?UDD A1 Az

0 T U

5G555

RS
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2 1
2 Uny <§UDD U < ?UDD A A RS
1 T U,
2 1
3 Uny <§UDD Ur > ?UDD A A,
5 0~Up
R R U,
R
3. 555 9-1-1
9-1-1 5G555
R Upy Um U, D
0 x x
2 1
1 >?UDD >?UDD
2 1
1 <?UDD >?UDD
2 1
1 <?UDD <?UDD
2 1
1 >?UDD <?UDD
9.1.2 555
1.
9-1-2 a 555
1-2 555
u; Uo
555 7 " u. 0V
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u, 555 2
Uy
555 Voo R C Vypp—R—C
— u. 0oV Uc %UDD
2
Uc ?UDD U, 555
T K C Uc U
ov
C 7T =RsC Rees
T 3~5 71 C
9-1-2b
9-1-2b tw 0
%UDD RC
Vo - 0
ty =RCIn—————=RCInN3 =1.1RC
V, AV
oo~ 3 Voo
tw R C
R C tw
2.
9-1-3 a 555 R, R, C
# é
by
[B] 18 4
H

9-1-3 555



1
UTH:Uﬁ:UC:0<§UDD D
2
Rl Rz UcB ?UDD
2
Ue= 3 Upo D
R, D
1 1
Uno U, = ?UDD = UC\§UDD
R, R C
9-1-3 b
9-1-3 b t,
2 2
?UDD tz ?UDD
Upo RC
1
VDD - ?VDD
t,= R +R, CIn 5 = R +R, CIn2=0.7 R, +R, C
VDD - §VDD
t, =0.7R,C
T
T=t, +t,=0.7 R, +2R, C
3.
9-1-4 a 555
2
I — |
I 1 1
9-1-4 555
_ 2
u =0V U, u ?UDD U, u
1
Uo U; ?UDD
ov 9-1-4b
4,
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9-1-5
2
555
9-1-6
5
1. I
° |
| |
1 /E:L_":) 1 )
4P i
-I‘") | 3
I/,z,;
ity St E— -
9-1-5
3
9-1-7
24vo .
Foo=3.3V
10k
ok } H 220008 - g H 1]
Py K2 T ., | ke T =
= - L1 B 10002 4 8
M —T—IUU F;J D {8 7 >|_
J A % : DW7
T, 5 T, 555 6
3DK2 T
e H 3DK2 | - 3 = RDW,
1O |:| ﬁ_ - 5- 5 q =
S ¥
T
I -
T 24
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9.2

9.2.1

ROM

ROM

E*PROM

100

ROM

RAM—Random Access Memory

ROM ROM
ROM

ROM

ROM

ROM PROM  PROM

ROM EPROM
N MOS

MOS
ROM E*PROM

MQOS
MOS

Flash Memory

EPROM

EPROM

EPROM
E*PROM

MQOS

ROM

ROM—Read-Only Memory

X

ROM
1 0
PROM
MOS
EPROM
EPROM
ROM
RAM
E*PROM
MOS
EPROM
200 ps
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1. ROM
ROM 9-2-1 ROM
3
2

2. ROM

1

ROM 9-2-2 AA, D,D,D, D,
4x4=16
2

Wo=AA W =AA W, =AA W, =AA

D0:W0+VV2 Dl:W1+Vv2+W3 D2:VVO+VV2+VVS D3:W1+VV3

3 ROM 9-2-1

9-2-1 ROM
A:l A() D3 D2 Dl DO
0 0 0 1 0 1
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1 0 0 1 1 1
1 1 1 1 1 0
4
AA, D,D,D, D, 9-2-1 00
0101 01 1010 10 0111 11
1110
A A D, Db b, b, 4 9-
2-1 A A 00 D,=0 D,=1 D, =0 D,=1 A A
01 D,=1 D,=0 D,=1 D,=0
AA 4
W, W, W, W, W, ~ W, 4 9-2-1 W,
0101 W, 1010 W, 0111 W, 1110
3. ROM
1
“ ” ROM
9-1 ROM y=x X 0~15
1
X 0-~15 4 B =B,B,B,B,
y=x y 15° =225 8 =
Y,Y,Y.Y,Y,Y,Y,Y,
2 N
9-2-2  9-1 Y
B, B B B |Y Y. Y. Y. Y. Y, Y. Y,
0 0 0 0 0 0 0 0 0 0 0 0 0
0 0 0 1 0 0 0 0 0 0 0 1 1
0 0 1 0 0 0 0 0 0 1 0 0 4
0 0 1 1 0 0 0 0 1 0 0 1 9
0 1 0 0 0 0 0 1 0 0 0 0 16
0 1 0 1 0 0 0 1 1 0 0 1 25
0 1 1 0 0 0 1 0 0 1 0 0 36
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0 1 1 1 0 0 1 1 0 0 0 1 49
1 0 0 0 0 1 0 0 0 0 0 0 64
1 0 0 1 0 1 0 1 0 0 0 1 81
1 0 1 0 0 1 1 0 0 1 0 0 100
1 0 1 1 0 1 1 1 1 0 0 1 121
1 1 0 0 1 0 0 1 0 0 0 0 144
1 1 0 1 1 0 1 0 1 0 0 1 169
1 1 1 0 1 1 0 0 0 1 0 0 196
1 1 1 1 1 1 1 0 0 0 0 1 225
3
Y7 =My + Mg +my, + Mg Yo =M + My +my, +my, +my, +my
Ys =mg +m; +my, +my; +my +myg Y, =m, +mg +m, +my +my +my,
Y3 =M, +mg +my +my Y, =m, +mg +my, +my,
Y, =0 Yo=my +my +mg +m, +mg +my +my +myg
4 ROM
ROM
9-2-3 W, ~Ws My ~ Mys
ROM 9-2-4
2
ROM
ROM
9.2 ROM
Y, =ABC + ABC + ABC + ABC Y, =BC+CA
Y, = ABCD + ABCD + ABCD + ABCD + ABCD + ABCD
Y, =ABC + ABD + ACD +BCD
1 A B CD Y, Y,

Y,=%,23458914 15
Y,=%, 6710 11 14 15
Y,=%, 03691215
Y,=Y, 71113 14 15
2 16 x4 ROM
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8

ROM

=&

FEEHR=
HAFT

[ b
[}
[}
[ b
w,W I IF (R, F|E, | W, |F, | F. | ¥, |, |F.
{mr,) | (. {m,.)
ok
fif 1)
Hi B
B A
9-2-3 9-1ROM
D.——oF
Bo—4 n, v,
DoV
W Bo—4 lexgfr W f——o ¥ Tﬁu
N ROM D, ——o ¥, i
x Fio—4d, D Y, ¥
D —-=0o ¥
BUO -'4-" Dn N K_.
9-2-4 9-1ROM
EPROM —EPROM 2764 9-2-6 9-2-7
Ve = 5V V, Vep +5V PGM
PGV Vep
ROM OE =0
OE=1 ROM
ROM CS=0  ROM cs=1
OE
CS+OE CS+OE =0 ROM
cs=1 ROM

=0

oz e

o B B B

P

+25V

ROM
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E O—T— 1K
B 1 —
© '|' o
= o
I
C 1@ ¥l [
| L] gsﬂl
D O—T— 1 &
| omey | om | omey | ey | R LM I I SO IO O [ B T (- IR . R T
= 5 ¥
ook
i% 1) &
H O Y.
B 7l .
9-2-5 9- 2 ROM
If(:l: 1 i:;w
27
Vo ——qPGM
Gy 10|,
9
AJ
L
7
p jx o U
H S A4 o |12
e 4+ |, sBXs O 1: o
W o2 |, e of——*%&
N 25 4, G o
24 |, O, "
27 [ o 17 [
Ay 13
2 Py @
2 4,
ts 2 dcs
ﬁic(m
9-2-6 28 EPROM 2764
ROM 10% ROM
5. ROM
ROM ROM
ROM
1 ROM EPROM 8
9-2-8 2764 16k x 16 EPROM
2 ROM
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Hp: hAg
l A=A, HUEA
A,-A o D—.FUDU ﬁ ‘H'lf:
=—— TCE _ )
O cE e
D,~D,
~— PGM PGM k)
—1 7 Voo Ve o WIEBA
Hh PP o <
9-2-7 Inte 2764 EPROM
Py B
8
4, BkBX§ A, SkBX8
2764 o, — 2764 o,
A, A
—d s o, — —d % o,
3 13
! —d OF ——a OF
1 U
bR 13
AIIHJAIH
CS o
OE ©
9-2-8 ROM
8 2764 64k x8 EPROM 9-2-9
9.2.2 RAM
RAM /
RAM
1. RAM 9-2-10
/

n-
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Himis: DDy g
2764 8 2764 8 2764 8
A, A, A,
. 7, 0, : [0 e
A Ay, A,
—G 8 O —q s O —qacs G —
13
13 —d OF 13 —a OE OE ..
Hhik gk 13 v [EA U,
A=Ay,
OC ©
Aliioixic.
.riNO— Al ]r‘u:)_
Ay o0— % ¥, o
+5y — @G, '
G}.« YTﬁ
G!H
T4LS138
9-2-9 ROM
X,
Ay 0— - o I = 0 3l
" A4, o0— JT;L ] m] -
T (=3 Horm L IR IE ||
- g Lgigh 1 1 1 31
g Lo oA |
A o
A o— E:,?; : fir fir fr o, ‘3;/\_5 fir i
NiEfo———* & ® g ' &
4, o— -
AT o — |
i A (‘,_ 3T N 31 31 31
S el e
Do
ki)
Do
¥, b ¥, b ¥,
| IR |

9-2-11 1024x1

H ol A

RAM




9-2-11 1024 x 1 1 1024
32 x32
32 X, X, 32 Yo Y. Yy
X Y,
2
5 32
A A A Xo Xy Xy 5
32 A A A Yo Y, Yy
10 AAAAAAAA A A, =0000000001 X, =1
Y, =1 X, Y,
3 /
RAM /
/ CPU CPU
/
RAM / RAM /
4 /
RAM / CPU
/ /
1024 x 1 RAM 1
1 1 / 256 x 4 RAM 4
4 4 / RAM
RAM
5
RAM RAM
CPU RAM
RAM CPU RAM  CPU
RAM
CPU
CPU
6 RAM /
9-2-12 /
Ccs=1 G, G, 0 G G G /
1/0 /
Cs=0 R/W=1 G, G,
/0 R/W=0 G, G,
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2. RAM
1
9-2-13 2K x8 CMOS RAM 6116 A ~Ap
D, ~ D, S OE WE
A o0—1 24 —0V,
4, 00— 2 3 —o4
A, 0—— 3 a3 —a—0 04,
4. 00— 4 21 —0 WE
4, 00— 3 0 —o OF
b D 40— 6 19 —o 4,
6116
G, G, A o—A7 18 —o0 T8
L0 4, o0— & 17 —o b
G, B P, o— 9 16 —o n,
& — R/W
G ' :ﬁj D o—— 10 15 b—o0 D
%I D, o— 11 14 —o D,
_,;,;_ GND 00— 12 13 —oD
9-2-12 / 9-2-13 RAM 6116
2
9-2-3 6116
9-2-3 RAM 6116
cS OE WE A~ Ay D, ~ D,
1 x X x
0 0 1
0 X 0
3. RAM
RAM RAM
1
8 1024 1K x1 RAM 1024 x8 RAM
2
8 1Kx8 RAM 8K x8 RAM
/ / Ab NAa A10 A11 A12

74138 8 8 1Kx8 RAM



332

1/0, 170, 1/0,
/o /0 /0
1024 X IRAM 1024 X 1TRAM 1024 X 1IRAM
A4, - A, R/WCS A4 - A RSWOS Ay A, - A, RSWCS
[=] [#] |
4, 0
4 o
"4=J r
R/W &
FalRes
9-2-14 1K x1 RAM 1K x8 RAM
o 1/0,
| ‘o 170,
» ¥ o 170,
[ ] 1 1
170, 170, - 140, 170, 1/0, - 1/0, 170, 150, - 170,
1024 X 8RAM 1024 X 8RAM 1024 X 8RAM
Ay d o A R/WES | | A A 4, R/WCS A, A ARSWCS
o [+] [s]
4, 0
4,0
4y o
R/W ©
¥, p—
A 0—4 ¥, p—
‘4110— B '.V:
e
A, 0——(CT4138 ¥
Y.-s P/
Y.p—
¥,
Gl G“.,A Gm'l
+5Y
9-2-15 1K x8 RAM 8K x8 RAM
RAM

9.3 PLD

Programmable Logic Device
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PLD PROM
PLA PAL GAL FPGA
Field Programmable Gate Array CPLD Complex Programmable Logic
Device
PLD 9-3-1

0% (01 . T S o5
ol
S AR o8 =%
] 5
(a) PO FBEEH (b) b T4
9-3-1 PLD
PLD @D @
EPROM (@ @ SRAM
9-3-2 PLD
9-3-2a PLD
9-3-2 b 9-3-2 ¢ PLD
9-3-2d 9-3-2 ¢ PLD
9-3-2f PLD

9-3-2 PLD
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9.3.1 PLA

PLA

9-3 PLA

S=ABC + ABC + ABC + ABC
C =AB+AC+BC
A B C S

p,=ABC P,=ABC P,=ABC

P,=ABC P,=AB P,=AC P,=BC
s C

S=P,+P, +P, +P,

C =P, +P +P,

9-3-3 PLA

PLA 9-3-3
9.3.2 PAL

PAL PROM
ns PAL

1. PAL

PAL 9-3-4

2. PAL

PAL “ ”
9-3-5

PAL10H8 10 8
AL10L8 10 8 PAL16A1 16 1
PAL 9-3-6

3. PAL

@
@
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_________ QS
u W
(o) HHREN 2 R ® BT
9-3-4 PAL
:D
A BamL Rk A%
b} FH TS
9-3-5
9
O O
c | | 4] E |
(AR OETE
9-3-6
®
PAL PROM
9.3.3 GAL
GAL  Lattice 1985 GAL
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PAL ECMOS /O

GAL PAL GAL
GAL16V8 FPGA
GAL GAL39V18
GAL16V8 16

9-3-7

il

d
4
g

[ERTIITITINIIDY

i

™5

9-3-7 GAL16V8

OLMC 8x8
OoLMC 9-3-8 OLMC
XOR n 1
XOR n n D
GAL OoLMC MUX  FIMUX
TSMUX FMUX
OMUX
AC, AAl n TSMUX AC, AAl n AC,- AAl
n =11 TSMUX 11
9-3-1 OoLMC
9-3-1 OLMC
SYN AC, AAl n XOR n
1 0 1 / /
1 0 0 0
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O vow

* B4
i (m)
9-3-8 OLMC
0 1 1 0
1
0 1 0 0
1
9-3-1 SYN AC, AAL n XOR n SYN=0
GAL SYN=1 GAL
OLMC 12  OLMC 19 SYN AA1 m SYN AC, PAL
XOR n XOR n =0 XOR n =1
GAL —
Logic Lab GALLAB  CUPL
1. 555 RS
2. 555 556 558
3. RAM
ROM MOS
4. ROM
ROM ROM ROM PROM
EPROM E’PROM E’ROM

RAM
5.

ROM
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ROM ROM

ROM
6. RAM
SRAM  DRAM
MQOS SRAM
DRAM
7. PLD PLA PAL
GAL
8. GAL PLD
9-1 555
9-2 555
9-3
9-4 256 x8
9-5
9-6 PLA ROM
9-7
1 TIL -
A.555 B. 556 C. 7555 D. 7556
2 555 o
A. B. C. D. XK
3 1k x8 o
A. 8 B. 8K C. 8000 D. 8192
4 4K x8 RAM o 256 x4 RAM
A.2 B.4 C.8 D.32
5 16K x8 RAM o
A.4 B.8 C.14 D.16 E. 16K
6 8 8
A. 8x3 B. 8K x8 C. 256 x8 D. 256 x256
7 —
A B. / C D
8 ROM o
A B. / c. |/ D /
9 ROM
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“ \/11 w oo

©
. f
o

2 16K x8 RAM 32K x8 RAM

© N U A~ WDN PR
Py}
Q
<

PROM RAM
PAL
PAL GAL
PAL
10 GAL
9-9 PLA
F, =ABC+AC+ABC
F, =AB +AC+ ABD +BCD
9-10 9-1 555
R
o— 1+ v o
* b2 6~ 15V
I I~
f , BA&P
o— 3
c
555 |5
I o—{ DL
¢ L : D
n.muFI 220V
9-1
555
1.
1 555
555
2.
1 555
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3.

1 +6V

2

3

4

5 555 1

6 3Ax31 3Ax81 3AG 3DU 1

7 10 pF/10V 1 0.01 nF 2

8 20k 1 100 kQ 1 2k 1

9 5WBQ 1

10
4,

1

10-1
© o)
3aX31 _ﬁ 10RE/ 10V
Olpk
10- 1

2

3A x31 l oo 10 ~50 pA
T | oo 555
R, 4 555
T leeo 555 R,
555
3
@ 3A x31 R,
R, @ 3A %31 ® 3A x31
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555 ) @ ©) @ ® ® @

555 R, R
R, 1 kQ
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10.1 D/A

10.1.1 D/A

D/A
10-1-1

10-1-2
D/A

10.1.2 T

D/A

2R “

/
A/D
D/A A/D
DO ~ Dn-l
D/A
T D/A
T

D/A
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10

KM

10-1-1 D/A

FR

3\) KM

]

[ *o. ro,

\

D/A

0-1-2 3

ad
<
o
ST —~
~|o T ™
. v —-— .
D--l--l-./o|_H_|A. —
& .
. S
=4 k]
BEIE
BTN =
2" 1 S y-le
—
8
nd
N
x

2R



=V /R 112 1/4 1/8 1/16

H - VREF DO Dl D2 D3 — VREF > i
iy = R 24+23+22+21 _24XR;) D- 2 10-1-1

_ . — Rf VREF S i
VO—-|ZRf——ﬁ- 24iZ{)Di-z 10-1-2
n n T D/A
_ & VREF < i
VO—-R o & D i 10-1-3
_& VREF
K= R o Ng n
V, =- KNg 10-1-4
D/A
1
2 T R 2R
3 2
2
T D/A
D/A
CMOS T D/A AD7520 10 DAC1210 12
AK7546 16
10.1.3 D/A
T D/A
D/A
D/A 10-1-4
/2 1/4 1/8 1/16
Di =1 S D, =

. | | | |
v, = - IzRf:Rf ?D:; +ZD2 +§D1 +EDO

-1 R D,- 2°+D,- 2°+D,- 2' +D,- 2°

4

3 .
=5 RD- 2 10-1-5
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10-1-4 D/A

10.1.4 DI/A
1.
D/A

1 —DI/A

D/A D/A
1 0
1 N D/A nl
2" -1

D/A

2
D/A 1 D/A

LSB/2
8 D/A FFH %VREF
_ 1 255, 1
LSB =15 Veer 256 T512 UREF

2.

1 t, —

D/A NB 0 1
+SB/2 D/A D/A
0.1 p,S

2 R —

3. —
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10.2 A/D
10.2.1 A/D
A/D 10-2-1
LLL,
AR
VA-es
g
-7 ss,
b b b
RN I VA sB, | km,|  SB, |KM,
3 Es f ES i
FR| F3- 1;-{1\] KM, KM,
KM, KM
10-2-1
A/D
1.
10-2-2 Ve
f=2f,
fS fimax V,
VS
fimax fS- fimax
-2-3 A/D
A/D

A/D

10-2-1

10
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LILHLH
Ydos
OO,
4 . ' d
{4 %--\KMA
FR F 4 5B:
= FR
10-2-2
l4¢nl
N Fe 7
10-2-3
10-2-4 N MOS V
N

/]
1

A 0V,
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R V C, R,
3.
A 1
A
A/D
A
0~ +1V 3 A= 1/8
\/ 0~ 1/8 V 0xA 000
1/8 vV~ 2/8 V 1xA 001
10-2-5 A 1/8 V
Pt 12 T 1 VT AN A N T F oy R N L
IV — 1V ——
_ } 1 TA={T/8WV _ } 11 TA={14/15V
78— 13/15 —— _
116 aA=6/8 110 6A=12/15
6/8 —— 11/15 ——
101 SA=3/8 101 SA=10/15
518 —— 915 ——
100 4A=48 100 4A=8/15
4/8 —— 715 —— _
on IA-38 o1 TA-6/15
38 —— 515 ——
a10 2A=28 010 2A=4/15
28 —— 315 —— _
001 TA- 18 001 1A= 2/15
1 e 1
18 000 0A=10 . 105—— 000 0A=0
0 —_1
{a} {b}
10-2-5
10-2-50b A= 2/15
\Y 000 0~ 1/15 V 0~A/2
Al2= 1/15 V
Al2
10.2.2 A/D
1.
A/D
1 D A/D

A/D n
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A/D 2"
1/2"
8
19.53 mV
2 ——  AID
2,
A/D
A/D
10 ~50 s
A/D
1. A/ID DIA
2. T D/A
2R I D,
3. D/A
D/A
4. A/D
5. A/D D/A
10- 1 T
10- 2 A/D

10- 3 D/A A/D

A/D

5V

< +LSB/2

A/D 8
50 ns A/D
A/D
A/D
R 2R
A/D
A/D D/A
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D/A A/D

D/A

D/A A/D
VREF

A/D

D/A



351

i
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0 0 0 ODT v © X 9 &
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o D

3 _8
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D
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© ©No A~ Dd PR

P YUY YNRENERERNNNRNNBERERRE SRS
PO®DMPEPOO®O®NOORR®NPEPOOOONOOTORMWDNREO

low frequency electronic circuits
high frequency €electronic circuits
analogue electronic circuits
digital circuits

power electronic

fundamentals of radio technology
fundamentals of electronic circuits
CAD in electronic
microcomputer systems
sensor-based technology

signals and systems
communication principle

mobile communication

fiber optic communication
satellite communication

digital communication

terminal units of communication
measurement and instrumentation
professional English
electromagnetic field and electromagnetic wave
basis of computer application
television principles

caor television principles
technology of audio - visuals
computer interfacing

computing in C Language
single-chip computer systems
computer network

network and communications

OA equipment

multimedia technology

resistor

electralytic capacitor

capacitor
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35. inductor

36. operational amplifier
37. DC vdltage source
38. DC current source
39. AC vadltage source
40. AC current source
41. transistor

42, diode

43. LED light - emitting diode
44, zener diode

45, AND

46. OR

47. NOT

48. NOAND

49. NOR

50. AND - OR - NOT
51. EOR

52. XOR

53. Binary number

54. - Binary-decimal-code BCD
55. Decimal number
56. Octal number

57. Hexdecimal number
58. Positive logic

59. Negative logic

60. Rise edge

61. Fall edge

62. Level triggered

63. Edge triggered

64. Switching characteristics
65. Switching time

66. Threshold voltage
67. ground

68. Clock

69. Pulse

70. Delay

71. Reset

72. Synchronous

73. Asynchronous
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74.
75.
76.
77.
78.
79.
80.
81.
82.
83.

85.
86.
87.
88.
89.
90.
1.
92.
93.
94,
95.
96.
97.
98.
99.

100.
101.

Integrated circuit 1C
Combinational logic circuit
Sequential logic circuit

Parity check

Memory

Read-only memory ROM
Random access memory RAM
flip-flop

latch

Inverter

Counter

Frequency devider
Comparator

Adder

Half Adder

Full Adder

Seria carry Adder

Decoder

Encoder

Register

Shift Register

Multiplexer

Data distributor/ Demultiplexer
Seven-segment display
Seven-segment decoder / driver
Multivibrator

Digital to Analog converter ADC
Analog to Digital converter DAC
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'
=
»

a -5A b +9A -3A
0V 6V 4A
-6V 4V

'
[EnY
~

4
4-3 alVv -3V -15V b 7V 5V 0V
4-4 2V 4V Ug=-2V
4-5 5V 0.2A
4-6 25W 9x10°J 0.025
4-7 0.5W 5W 10W
4-8 U, =18V U,=6V P,=18W P,=36W P,=-54W
4-9 1A 9V O0A 100V 100A 0OV
4-10 P =99W P.=100W P, =0 P.=0 P, =0 P.=10kw
4-11 400 1.6W
4-13 0.8A
4-14 7.2V
4
4
4

'
=
[ee]

5-1 00 8W

5-3 960 400Q 600 Q

5-4 a 120 b6Q

5-5 I,=3A l,=-1A [,=2A
5-6 I,=2A 1,=3A

5-7 9A

5-8 1.8A

1 1 12mA 1.00ms 10°Hz 6.28x10°rad/s «/5 2 12sin 6.28 x10°t+x/5 mA
2 1 U,=10/2,0°V 2 [, =5/,120°A

3 220V 3llsin 314t- 60°

-4 1 [ =/27-21°A [,=1.5/2/45°A 2 U,=5042,135°V U, =125,2/0°V
7 Z,=4.54,10°Q0 Z,=10/ - 53°Q)

8 3A 3A
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6-9 u, t =100sn314tV U, t =31.4sin 314t+90° V u. t =318sin 314t- 90° V
6-11 1 R=1.24kQ X=0.32kQ 2 R=100 X=10/30 3 R=0 X=200
6-15 Uy=U =U.=U=10V |Z|=10Q

6-16 1=4.4A 1,=2.83A

6-18 R=100 X.=800Q

6-20 40V

6-22 R=100Q L=0.067H C=1.67y

7

7-6 220V 2A 22A 11.58 kW

7-7 380V 38A 66A 34.7kW

7-8 1,=1,=38A

7-9 122A 11A 7.3A 2 2A 11A 220V 37.6A 152V 228V
7-10 9.09 A 49.32 kW

8
8-8 1 4.65kw 283lA 14.4A 3 26.3 N/m
8§-9 228V
8-10 1 3.03A 45.45A 2 250
8-11 0.088 W
8-12 1261 83A 217A 2 40.6 kw
9
10
10- 2

10-3
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10- 4

1

2

3

4

3
3-6 U =0.106V U,=0.1V U,=0.005V
3-7 A,=1000 F=0.1
3-8 u,=5V
3-9 R=50kQ R,=14.3kQ
3-10 1.1V
3-11 u,=-4V
3-12 a u,=-4u, - 2u, b u,=-0.5u, - 1.5u, +3u,
3-15 |A|=2.83 ¢=-45°
3-20 690 Hz

4
4-1

1
@ T
(©) R
® R R Rw
@ T, Ro
2 Ry

U R =U,+U
__UR _ 15x200 _
RW_UZ+UBE2' - Ry =o a0 77 200- 200=100
3 R,
_ R +R, +R, _ 200 +100 +200 _
U= U, +Ug, RL+R, = 5.3+40.7 T m o =10V

4-2

1 Uy,=1.2U,=1.2x20=24V
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VR Up U.=U,=U,=6V
UBzuo:6><:-',oo+3$o+3oo:2 Vv
300 +-5- 300
UE UB 2UBE
Ug =Ug +2U, =12+2%0.7=13.4 V
Ug =U, - Up=24-12=12 V
2 Ru
R, +R, +R, _ 300 +300 +300
U. . =U =6 =18 V
OMAX yA R2 300
RW
_ . R +Ry+R, _ 300 +300+300 _
Youn =V Ry, +R, =" 300+30 0V
9-~18 V
4-3
R, +R
Up = Uper 1R1 2
1
R,
UOMIN = UREF =128V
R,
R +R, 0.24+1.8
Ugay =U =1.25 ~10.6 V
OMAX REF R1 024
2 C C
C D,
(O R, G
D,

9-7 1.A 2 ABC 3.BD 4D 5C 6.C 7A 8A 9D 10.C
9-8 1-5 v v v 6-10 v v
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© 0 N O 0o~ WN P

e e e el
© 0N O U~ WN R O

1991
1995
2003
2003
2003
2002
2000
2002
2004
2004
2005
1999
2004
2006
2006
2006
2000
2004
2003



